Installation Instructionss

Digitally signed by Botnaru Andrei
Date: 2024.08.20 09:03:51 EEST
Reason: MoldSign Signature
Location: Moldova

[ MOLDOVA EUROPEANA |




£—L: FAURRE LA EREERE, FER
FE£54FAM6 X 25175 AR ST B E AT .
Step 1: Assemble the column to the base in the

direction of the arrow, and fix the column with 4
M6x25 hexagon socket screws on the base.

=l
I

FL: BRERESLAFEENNE, HERERRSH—
FiM4 X 12424T & E
Step 2: Insert the plastic basket into the column in the direction of the arrow,
and fix it with an M4 X 12 screw at the front and back of the plastic basket.

B=%: BEEMIREkAREEMNME, HF
A& M4 X 12R75BIEETEE

Step 3: Install the table top to the column in the
direction of the arrow and secure it with four
M4 X 12 hexagon socket screws.



HE--.
1 y

FIUL: FERZ RS AEEEHANRE, HES B
H=EM5 X 16 A2

Step 4: Install the tablet bracket to the top of the column in the direction
of the arrow, and fasten three M5 X 16 hexagon socket screws on the
back.



BHE: BREERESLAEEEST,
HEEBSE S I =FM4 X 12125TEE .

Step 5: Install the cable support rack to the
table in the direction of the arrow, and
secure it with three M4 X 12 screws on the
back of the table.

BT BAFWHRELXT RN ESEEEME.

Step 6: Place the stainless steel cup in the designated position
on the countertop in the direction of the arrow.



Packing size: 77*48*19 cm
Base weight: 9.7kg

Packing List
number Name unit quantity
1 Base PCS 1
2 wheel PCS 4
3 Pillar PCS 1
4 Plastic basket PCS 1
5 Surface board PCS 1
6 Stainless steel PCS 9
cup

7 Tablet Stand SET 1
8 Wiring rack PCS 1
9 M3 Wrench PCS 1
10 M4 Wrench PCS 1
11 M4*12 screw PCS 4
12 M5%16 screw PCS 2




		2024-08-20T09:03:51+0300
	Moldova
	MoldSign Signature




